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Question one (30mks)

(a) Distinguish between sequential analysis and sequential tests (4mks)

(b) State the likelihood ratio for testing Hy: 6 = 6, against H;: 6 = 8; where 6y < &; (4mks)

(c) Given that o = 0.05 and B = 0.01, find the conditions under which the alternative hypothesis

H;will be accepted (6 mks)
EERE L T O Xn is a random sample from f(x, 8 ), 8 € Q with illustrations
show how
i. The estimate of the parameter can be derived (4mks)
ii. The sequential probability ratio test can be carried out (4mks)

(e) Examine if a test exists for testing Hy: 1= pgin f(x,u) = e~k if 1 < x < o (8 mks)

Question Two (20 marks)

Given the exponential distribution
f2x)= 67" exp (*/ ) where 6,<6,
State that H, will be accepted immediately

E o & e; gog‘_
x =85, where S, =n (90 % 5 '”3095;) g1-80

Question Three (20 marks)

Derive the value of K in SPRT given

X ~ N(g,672) where &° is know with a one sided alternative hypothesis
Question four (20 marks)

(a) How can the expected value of the stopping time in sequential analysis be obtained? (4

mKks)

(b) Distinguish between @ and 8 as used in hypotheses testing (2 mks)

(c) With an illustration briefly explain the critical region (4 mks)

(d) State the characteristics that are necessary in sequential analysis in order accept or reject
H, (4 mks)

(e) Highlight the significance of ASN functions (2 mks)

(f) Show how the expected sample size in a sequential test can be derived (4 mks)
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Question five (20 marks)

(a) What is the power function of parameter 6 (2 mks)

(b) Let xy,x5, ... ., beiid random variables with a common distribution p. state the stage
when SPRT stops sampling in testing Hy: ®? = povs Hy: P = py (4 mks)

(c) Given X ~g(n,p).obtain the test for: p < pyvs Hy: p>py (8 mks)

(d) Given that ®,<¥<®,, State the Walds approximation for ®,and €, and find
E(T|Hg)and E(T|H,) (6 mks)



